M HOl2EA
HE: HOIQEAMY SH(MY - SAILLUHUX/MANE - DES})
€2 Hol 4

Ho
0x
m
€
!
{0

SH-BE-ESA(EH) - MEAY - BES 0] &k o 713 o Bl RS2
HHOI & A Dt 36,134,445 32,876,143 3,258,302
s 933,000 933,000 0
Il 1,680,000 1,680,000 0
< 33,521,445 30,263, 143 3,258,302
BHOIQEAMYE SH (&Y - SAIHLHNEX/MHRES - 18,022,560 16,591,060 1,431,500
DE3)
s 933,000 933,000 0
=) 17,089,560 15,658,060 1,431,500
Hol2& e |4 9,221,200 8,341,700 879,500
s 933,000 933,000 0
< 8,288,200 7,408,700 879,500
HASH XISAT HEXNJLUEH (2 HAFRF) 879,500 0 879,500
403 X SHH S =01 & 879,500 0 879,500
01 XX AEEX 879,500 0 879,500
OHIEM XA HEXNJHEH 2= 879,500 0 879,500
CXNEdAdy g4 8,801,360 8,249,360 552,000
INESHAH 4 N (FIHEEXE) 1,759,000 1,807,000 A 48,000
308 MHAIEHHSOIA 1,759,000 1,807,000 A 48,000
M3JN2sSoUsBaEAS A 1,759,000 1,807,000 A 48,000
O2NSMEAHAH 4 N 1,759,000 1,807,000 A 48,000
OZ2I1J| ZHMASKNIAME 2F(SIAFXH) 300,000 0 300,000
308 UXIEHHSOIA 300,000 0 300,000
01 UHXEHILEEXS 300,000 0 300,000
O22J1Jl 2HLUSXNAALEH 2= 300,000 0 300,000
9|ZJ]J] CRO = ItXN (S EXH) 300,000 0 300,000
308 MUXIEHSOIA 300,000 0 300,000
01 HXEHBILAEEXS 300,000 0 300,000
O2zJ1J| H&AE A& H3t 300,000 0 300,000
e N (AEI=/BEINSARXH) 9,377,739 7,550,937 1,826,802
Hsol=01e =4 3,494,502 1,682,700 1,811,802
ZAHINLEER SH(IIEAFR) 780,000 0 780,000
306 ¢ =2 780,000 0 780,000
01 E¢3 780,000 0 780,000
OZaHFHEER E4 780,000 0 780,000
&?‘EEE SEUE AAMG(LING 3.0)(2HEEX 1,031,802 0 1,031,802
%
402 QI2HAHE01 M 1,031,802 0 1,031,802
01 QIZIX2AMSEE (KA E) 1,031,802 0 1,031,802
oustdgas dist S A (LINC3.0) RI& 1,031,802 0 1,031,802
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